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ENGLISH VERSION

Instructions: (1) Write the answers of all questions in main

answer book.

(2) Figures to the right hand side indicate the
marks.

(3) All questions are compulsory.

4) Use of calculator is permitted.

(5) Statistical tables will be given on request.

1 Write the correct asnswer with discription in main answer 20

book from the four options gven below in each multiple choice

question.
(1) In large sample tests is used.

(A) t-test ®) X2 -test

(C) F-test (D) None of these
(2) Prob (-2.58 <z< 258) =

3)

4)

()

A) 0.99 B) 0.68
© 095 D) 0.9973

Use of F-test is to test
(A) Single mean (B) equal variances

(C) equal means (D) None of these

Alternative hypothesis is denoted by symbol
A H, B) H
© H, (D) None of these

Degrees of freedom of r X ¢ contingency table is
(A rc B) rc-1
© @1 (-1 (D) None of these
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6) is used to test the significance of the mean
of a sample of 10 observations where ¢ is unknown.

&) Z-test B) A -test

(C) F-test D) t-test
(7 is used to test H,:0’ =0,

@) A -test B) ttest

(C) Z-test (D) None of these
€)) is used to test H, :p=0.

A) X2 -test B) t-test

(C) F-test (D) None of these
9 is used to test of significance of the difference

between means of two independent large samples.

(A) t-test B) Z-test

© % -test D) U-test
(10 x> =

@ Y(0-ef ® S0-N

(C) Z(O—e)z/e (D) None of these
(11) To test goodness of fit test is used.

A t B Z

2

€ F Oy %
(12) To test the significance of attributes test is

used.

A Z B t

2
<G x ® F
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(13) There are types of errors in the testing of

hypothesis.
(A Two (B) Three
(C) Four (D) None of these

(14) In Latin square design, number of plots =
(A) Integer number (B) Perfect square number
(C) Fraction number (D) None of these

(15) The technique of ANOVA was introduced by
(A) Karl Pearson (B) Dr. C.G. Khatri
(C) Ronald A. Fisher (D) Dr. C.V. Raman

(16) In ANOVA table for m xm L.S.D., error d.f. =

A m*1 B) m-1

©) (m-1)° ®) (m-1) (m-2)
17 is used to test H, :p = p,.

(A) t-test

(B) Fisher’s Z-transformation

©) % -test

(D) None of these

(18) X2 distribution is a skewed distribution.

(A) negative (B) positive

©) @A) and B) (D) None of these
(19) F-test 1s always test.

(A) two tailed (B) one tailed

(©) (A and (B) both (D) None of these
(20) is used to test H, @ =pu, =/,

(A) t-test (B) ANOVA method

©) 1 -test D) F-test
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2 (a) State the difference between small sample tests and 5
large sample tests.

(b) Explain : Type I Error, Type II Error. 5
OR

2  The informatution regarding results of two groups of boys 10
and girls of a college is given below :

Numbers | Mean | S.D.
Boys 120 70 14
Girls 80 75 12

Is there a significant difference between
@ Means
@) Standard deviations are significant ?

Use 5% level of significance.

3 (@) Explain in detail : Null Hypothesis, Alternative 5
Hypothesis.

(b) Describe briefly the procedure of testing of hypothesis. 5
OR

3  Fit a Poisson distribution to the following data and test 10
the goodness of fit. Use 5% level of significant.

o123 |4]|5]|¢6
£ 1111312617 |10 |4

4  The following are two independent random samples 10

drawn from two normal populations. Test the hypothesis that
population variances are equal. (Use 5% and 1% level of
significance)

Sample-1 | 8 |14 |10 |13 |10 | - | -
Sample-2 |12 [ 11 [15 |14 |16 |14 |16

OR
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4  Two independent random samples of size 9 and 8 are 10

drawn from the normal populations with the following

values.
Mean | S.D.
600 11
640 12

Is there significance difference between the two means of

populations. (Use 5% and 1% level of significance).

5 (@) A random samples of 100 pairs of observations from 5
bivariate normal population gave r = 0.70. Test the

significance of correlation in population.
(b) The sample coefficient of correlation obtained from 27 5

pairs is 0.32. Test H : p = 0.50 at 5% level of

significance. 5

OR

5 (@ A coin was tossed 36 times and head was obtained 5

for 24 times. Does this result support the hypothesis

that coin is unbiased. Use 5% level of significance.

(b) Explain the method to test the significance of the 5

mean in large sample.

6  What is an analysis of variance ? Explain the method of 10

analysis of variance for two way classification in detail.

OR
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6  Analyze of the following L.S.D. data completely.

DQ12) A7) C27) | BQ7)
B(22) | D(10) AB) | C21)
C(18) | B(12) D(6) A(7)
A(12) | C(19) B(10) D(8)
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